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Paper - BC-02
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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 10 × 2 = 20
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 State two main functions of statistics.

		  gm§p»¶H$s Ho$ Xmo à‘wI H$m¶© ~VmBE&

	 (ii)	 What are primary data?

		  àmW{‘H$ g‘§H$ {H$go H$hVo h¢?
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	 (iii)	 Define arithmetic mean.

		  g‘mÝVa ‘mÜ¶ H$s n[a^mfm Xr{OE&

	 (iv)	 Write down the formula of calculating quartile deviation.

		  MVwW©H$ {dMbZ kmV H$aZo H$m gyÌ ~VmBE&

	 (v)	 Give the meaning of skewness.

		  {df‘Vm H$m AW© ~VmBE&

	 (vi)	 When should the rank differences method be used for 

correction?

		  H$mo{Q> A§Va ar{V H$m à¶moJ ghg§~§Y H$s JUZm hoVw H$~ {H$¶m OmVm h¡?

	 (vii)	Why are there two regression lines?

		  àVrnJ‘Z aoImE§ Xmo ³¶mo hmoVr h¢?

	 (viii)	What is the method of semi averages?

		  AÕ© ‘mÜ¶ {d{Y ³¶m h¡?

	 (ix)	 State the meaning of chain base method.

		  l§¥Ibm AmYma ar{V H$m AW© ~VmBE&

	 (x)	 Explain the meaning of dependent events.

		  Am{lV KQ>ZmAm| H$m AW© g‘PmBE&

	 Section - B	 4 × 10 = 40
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 10 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 10 A§H$m| H$m h¡&
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2)	 Name any five sources of collection of secondary data.
	 {ÛVr¶H$ g‘§H$m| Ho$ g§J«hU Ho$ {H$Ýhr nm§M ñÌmoVm| Ho$ Zm‘ ~VmBE&

3)	 Calculate median from the following information of Dheeraj Ltd.

	 YraO {b. H$s {ZåZ gyMZm go ‘Ü¶H$m kmV H$s{OE&
Wages in ` 100 500 1000 1500 2000 2500

No. of
workers 5 7 10 12 8 7

4)	 How is skewness tested? Explain.

	 {df‘Vm H$s Om§M H¡$go H$s OmVr h¡? g‘PmB¶o&

5)	 Describe the different techniques of Business forecasting.

	 ì¶mdgm{¶H$ nydm©Zw‘mZ H$s {d{^ÝZ VH$ZrH$m| H$m dU©Z H$s{OE&

6)	 What is Trend? State various methods of measuring it.

	 CnZ{V ³¶m h¡? Bgo kmV H$aZo H$s {d{^ÝZ ar{V¶m| H$mo ~VmBE&

7)	 What is correlation? Explain its importance.

	 ghg§~§Y ³¶m h¡? BgHo$ ‘hÎd H$mo g‘PmBE&

8)	 What is an Index Number? Narrate its uses.

	 EH$ gyMH$m§H$ ³¶m h¡? CgH$s Cn¶mo{JVm ~VmBE&

9)	 If a dice having six sides and marked 1 to 6 is thrown, what is 
the probability of getting 1 or 2.

	 EH$ nmem {Og na 1 go 6 A§H$ S>mbo J¶o h¢, ¶{X EH$ ~ma ’¢$H$m Om¶ Vmo 
1 AWdm 2 AmZo H$s ³¶m àm{¶H$Vm h¡?

	 Section - C	 2 × 20 = 40
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
20 marks.
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(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$aZm h¡& àË¶oH$ àíZ 20 A§H$m| H$m h¡& 

10)	 Calculate standard deviation from the following data of Neha 
Ltd.

	 Zohm {b. Ho$ {ZåZ g‘§H$m| go à‘mn {dMbZ H$s JUZm H$s{OE&
Size 0–8 8–16 16–24 24–32 32–40 40–48 48–56

Frequency 8 12 20 25 20 10 5

11)	 What is meant by regression? How does it differ from 
correlation? Describe its utility.

	 àVrn J‘Z go Amn ³¶m g‘PVo h¢? ¶h ghg§~§Y go {H$g àH$ma {^ÝZ 
h¡? BgH$s Cn¶mo{JVm H$s {ddoMZm H$s{OE&

12)	 Calculate weighted Index number for 2016 of the following 
data by weighted Aggregative method:

	 {ZåZ{b{IV g‘§H$m| go ^m[aV g‘yhr ar{V Ûmam 2016 df© Ho$ {bE ^m[aV 
gyMH$m§H$ H$m n[aH$bZ H$s{OE :

Commodities
Base Year 2016

Price ` Qty. (Kg.) Price ` Qty. (Kg.)
A 5.00 10 7.50 9
B 2.00 20 2.40 17
C 4.00 5 6.00 4
D 10.00 7 11.00 7

13)	 Explain what do you understand by the term “Probability”. 
State the addition and multiplication theorems of probability.

	 àmW{‘H$Vm eãX go Amn ³¶m g‘PVo h¢? àmW{‘H$Vm Ho$ ¶moJ Ed§ JwUZ 
à‘o¶m| H$mo ~VmBE&


